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Q. Explain how forecast revenue from wheeling is derived and applied in the 1 

calculation of Revenue to Cost Coverage ratios and confirm that wheeling 2 

revenue is included as an “expense credit” for Transmission Demand costs 3 

 4 

 5 

A. The forecast revenue of $70,964 is derived by multiplying the forecast 6 

wheeled energy of 15,700,000 kWh by the rate of $0.00452/kWh. 7 

 8 

 In the calculation of revenue to cost coverage ratios, wheeling revenues are 9 

included as an expense credit, reducing the firm revenue requirement 10 

recovered through firm rates.   11 


